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1. Find the domain of the real function 

Watch Video Solution

f(x) = √x2 − 25

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PNyQyYII9CaF


2. IF  are defined by 

and  , then find (fog)(2)

Watch Video Solution

f :R → R, g :R → R f(x) = 3x − 1

g(x) = x2 + 1

3. Define a symmetric matrix. Give one example of order

Watch Video Solution

3 × 3

4. Find the Adjoint and Inverse of the matrix 

Watch Video Solution

A = [
1 2

3 −5
]

https://dl.doubtnut.com/l/_T75rqZf2p5I1
https://dl.doubtnut.com/l/_dny32M9uXmgq
https://dl.doubtnut.com/l/_l5AekKKspkYC


5. IF the vectors  are collinear

vectors then find .

Watch Video Solution

−3 ī + 4j̄ + λk̄, μī + 8j̄ + 6k̄

λ&μ

6. Find the vector equation of plane passing through Points

(0,0,0) , (0,5,0) and (2,0,1)

Watch Video Solution

7. Find the angle between the vectors  and 

Watch Video Solution

ī + 2j̄ + 3k̄

3 ī − j̄ + 2k̄

https://dl.doubtnut.com/l/_50EawUlqU0gn
https://dl.doubtnut.com/l/_ALIxagd31hGa
https://dl.doubtnut.com/l/_arkmCSEEWdga
https://dl.doubtnut.com/l/_iH625JaQwTgH


8. Find 

Watch Video Solution

sin 330∘ . cos 120∘ + cos 210∘ . sin 300∘

9. Find the extreme values of 

Watch Video Solution

cos 2x + cos2 x

10. Prove that 

Watch Video Solution

cosh 2x = 2 cosh2 x − 1

11. IF  then find AB'

and BA'

A =
⎡
⎢
⎣

7 −2

−1 2

5 3

⎤
⎥
⎦

. B =
⎡
⎢
⎣

−2 −1

4 2

−1 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_iH625JaQwTgH
https://dl.doubtnut.com/l/_7xXKLjknTLwj
https://dl.doubtnut.com/l/_fJu0CHUtsCtG
https://dl.doubtnut.com/l/_jPmRNQiTpdc0


Watch Video Solution

12. Show that the four points

are coplanar, where  are non-coplanar vectors.

Watch Video Solution

− ā + 4b̄ − 3c̄, 3ā + 2b̄ − 5c̄, − 3ā + 8b̄ − 5c̄, − 3ā + 2b̄ + c̄

ā, b̄, c̄

13. Let  and  be vectors, satisfying and 

. Find the area of the triangle having 

and  as two of its sides.

Watch Video Solution

ā b̄ |ā| = ∣∣b̄∣∣ = 5

(ā, b̄) = 45∘ ā − 2b̄

3ā + 2b̄

https://dl.doubtnut.com/l/_jPmRNQiTpdc0
https://dl.doubtnut.com/l/_iP840oRj0QIv
https://dl.doubtnut.com/l/_IJ2yCBDzsKNT


14. If A is not an integral multiple of , prove that 


(i)  


(ii) cot A - tan A = 2cot 2A`

Watch Video Solution

π

2

tanA + cot A = 2 cos ec2A

15. Solve 

Watch Video Solution

√3 sin θ − cos θ = √2

16. Prove that 

Watch Video Solution

sin− 1 + sin− 1 + sin− 1( ) =
4
5

5

13

16

65

π

2

https://dl.doubtnut.com/l/_xMnQcsCWGuhC
https://dl.doubtnut.com/l/_kD1NEARERLao
https://dl.doubtnut.com/l/_JXmpGtYu26xY


17. If , then prove that .

Watch Video Solution

a = (b − c)secθ tan θ =
2√bc

b − c

sinA
2

18. If  are two bijective functions then

prove that  is also a bijective function.

Watch Video Solution

f :A → B, g :B → C

gof :A → C

19. Using the P.M.I 2prove that

Watch Video Solution

+ + + .... + nterms =
1

1.3

1

3.5

1

5.7

n

2n + 1

https://dl.doubtnut.com/l/_9gKxr2GusuCO
https://dl.doubtnut.com/l/_n9lkBz5HZ9ot
https://dl.doubtnut.com/l/_gMg5rSSlA1Iz


20. Show that

Watch Video Solution

∣
∣
∣
∣

a + b + 2c a b

c b + c + 2a b

c a c + a + 2b

∣
∣

∣
∣

= 2(a + b + c)
3

21. Solve the system of equations

 using

Gauss Jordan method.

Watch Video Solution

2x − y + 3z = 9, x + y + z = 6, x − y + z = 2

22. Fo any four vectors  and , prove that 


(i)  and (ii) 

ā, b̄, c̄ d̄

(ā × b̄) × (c̄ × d̄ ) = [̄ ¯̄̄acd̄ ]b̄ − [b̄c̄d̄ ]ā

(ā × b̄) × (c̄ × d̄ ) = [ā¯̄̄¯bd]c̄ − [āb̄c̄]d̄

https://dl.doubtnut.com/l/_e5M24YQL4JxW
https://dl.doubtnut.com/l/_8G0I58PuQbfR
https://dl.doubtnut.com/l/_EkxFaIFY0l3w


Watch Video Solution

23. If A,B,C are angles in a triangle , then prove that

Watch Video Solution

cosA + cosB + cosC = 1 + 4 sin. sin. sin.
A

2
B

2

C

2

24. Show that 

Watch Video Solution

r + r3 + r1 − r2 = 4R cosB.

https://dl.doubtnut.com/l/_EkxFaIFY0l3w
https://dl.doubtnut.com/l/_Nr3QiAtktREn
https://dl.doubtnut.com/l/_VTNnq8yBd6G3

